
Phys 206 – Fall 2019
All University Physics Sections

Exam III

Short answer

A) i) [LO 9.1, 54.1]

+ve

F

ii) F > 250 N [LO 54.2, 54.3, 55.1]

B) i) [LO 1.1, 1.2, 9.2, 23.1]
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+ve

T2 sin θ2 T1 sin θ1

T1 cos θ1

T2 cos θ2

ii) T1 =
3
5
W and T2 =

4
5
W [LO 4.1, 21.1, 21.2, 24.1, 24.2]

C) i) “The puck loses some, but not all, of its original momentum and

mechanical energy.”
[LO 40.1, 46.1, 48.1, 50.1]

ii) “The system conserves its original momentum and loses some, but

not all, of its mechanical energy.”
[LO 40.2, 46.2, 48.2, 50.2]

D) i) Irod = 1
12
ML2 [LO 51.1]

ii) Ibead = 1
4
mL2 [LO 51.2]

iii) Itot =
1
2

(

1
6
M +m

)

L2 [LO 53.1]

iv) L = F
(

1
6
M+m

)

α
[LO 54.4, 55.2]



Problem 1: a) p = 10 kgm/s [LO 3.1, 10.1, 46.3]

b) Completely inelastic [LO 50.3]

c) vf = 2
3
m/s [LO 46.4, 48.3]

d) ∆x = 1
15

m [LO 3.2, 34.1, 38.1, 39.1]

Problem 2: a) IP = 1
4
kgm2 [LO 10.2, 51.3]

b) ωP = 8 rad/s and KP = 8 J [LO 16.1, 35.1]

c) v = 8 m/s [LO 3.3, 16.2, 34.2, 35.2, 38.2, 38.3, 39.2]

d) A slower speed [LO 51.4]

Problem 3: a) [LO 9.3, 9.4, 23.2, 23.3, 24.3, 24.4, 26.1]
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b) i. Icyl = MR2 [LO 51.5]

ii. Ispoke =
1
6
MR2 [LO 51.6]

iii. Itot = 2MR2 [LO 53.2]

c) T = (2MR)α [LO 54.5, 55.3]

d) α = a
R

[LO 16.3]

e) a =
(

m
m+2M

)

g [LO 4.2, 21.3, 22.1]


